@ZINKO

— Hydraulic Jack =

Toll Free: 7-800-579-8088 Web: www.zinko.com

5 0-C-m oo«

IWF Series Parts Breakdown

REV 010118 page 1 of 1

Part# [Description Part# [Description Part# |Description
01 Complete Oil Block 41 * O-Ring 59 Handle
09S Presure Gauge Set 42 Packing 60 Carrying Handle
Including #2,3,7,8,9,10 43 * O-Ring 88S Handle Socket accessory
09 Pressure Gauge 44 * Back up Ring Including #61,62,63,66
23 * O-Ring 45 * O-Ring 67,68,69,70,71,72,73
28 Screw M8 x 18L 46 Oil Bag 74,75,76,87,88,90
29 Screw @10 47 Rod 85 Wear-Resistant Ring
30 Base Plate 48 Cylinder 86 Oil Bag Outer Packing
31 Top Plate 49 * O-Ring 87 Screw M5 x 16L
32 Spreader 50 Spreader Mounting 88 Handle Socket
33 * O-Ring 51 * O-Ring 89 Screw M6 x 10L
34 Oil Bag inner packing 52 * Back up Ring 90 Spring
35 * Packing 53 Top Cap 92 Screw M5 x 6L
36 * Back up Ring 54 Dust Seal 93 Wear-Resistant Ring
37 * Tube Stopper 55 C Ring 96 Screw M6 x 16L
38 Piston Rod 56 Spreader 97 Base cover
39 Return Tube Cylinder 57 Cushion RP Repair Kits (All *)
40 * Back up Ring 58 Scerw M8 x 8L
P.O. BOX 4903 Phone: (909) 230-4100

Ontario, CA 91761

Fax: (909) 230-4137




